| N of reco track vs normalized x2 | | N of associated (recoToSim) tracks vs normalized x? N of associated (recoTosim) looper tracks vs normalized X

1%} F (%] F %] [%]
x L x o < B4
5] r [} L 5] 5]
g [o: g [« g g
eI i - £ £
OF . g0° %
E o= = F & 810
I I Ey
10°F 10°F 3
3 3 10?
- - -
2 - 2 -
10° 10° 10

10 10

il T |

6 18 20 0 2 4 6 8 10 12 14 16 18 20 0"02463101211101823 O'T)Z463101214161820
track x2 track x2 track x2 track x?

[
[ Nof reco track vs. { =——

o F [%) [%)
< F ~ X
o [ 3] s}
8 8 8
1. = =
T10M @ °
E & ©, 2
F = na 210
Fa S
.. >
S

[N
o

w
DY

10

10

Ratio

Ratio

1.5




	Contents
	Page 1


